Booms for sargassum
protection : issues and
constraints
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Boom types

* Floating booms with « full skirt » ;

* Floating booms with « openwork
skirt » ;

* Stretched nets and other materials.



Floating booms with
« full skirt »
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Meteo-marine conditions



Wind climate



\Wave climate



Sargassum behaviour



Variable behaviour
offshore



More regular routes
in subtidal areas ?



Fonctions and modes of
use



Booms fonctions :
retention and deflection

* In all cases, sargassum must:
* Be present only on the surface
* Not accumule to an excessive depth

* |In retention :
* Current perpendicular to boom less than 0,35 m/s
* Significant wave less than the air draft and, if
possible, parallel to the boom

* [n deflection, a further condition :
* The tangential component of the current must be
sufficient to “push” sargassum along the boom



In Guadeloupe, few sites
for fixed booms



Mobile use of booms

Fonction : concentrate sargassum to
facilitate their collection in subtidal areas

Benefits :

* to depart from most unfavourable swell and wind
conditions

* To work continuously on accumulation areas

Conditions :

* Accumulation forecast

* Bathymetry (security)

* Treatment and removal chain
* Pooling of material

* Overall yield...



Economical constraints

* a relatively heavy investment, in the
range of 300 €/m

* operation and maintenance bring the

annual average cost to :
* 300 €/m/year for a fixed boom
* 200 €/m/year for a mobile boom

Assessments established for "large booms"
(air draft 0.5 m), excluding damages.



Environmental constraints

* Collection limited to sargassum
washed ashore or with high
probability to wash ashore

* an exceptional biodiversity

* Impacts of booms on the

environment :
* accumulation on unaffected areas
* erosion by anchorages

* global impacts. 100 m boom

equivalent to 1 t of material, which is:
« 2tof CO,

* waste generation, especially plastics:
1tevery 10 years



Toward new experiments?

The use of booms in mobile mode should

be explored :
* Lower impacts and costs
* Greater flexibility in use

* Viable solution if we can :
* predict sargassum pathways (observation and
modelling along coasts and between islands)
* Collect in subtidal accumulation areas
* mobilize collection and evacuation means :
* socially and environmentally acceptable
* cost-effective



Thank you for your attention
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